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Braninove jednacine

Uz: Al-%e”(—-s-Tprim-z)+A2-%e” (s-Tprim-z);

Tprim s z - Tprims z
A2 %e +Al %e

Iz: - (1/(Lprim-s)) -diff(Uz,z), Lprim=Zc-Tprim, ratsimp;

- Tprims z 2 Tprim s z

e (A2 %e —-Al)

oo

zZc

jednacine: [UO=ev(Uz,z=0), IO0=ev(Iz,z=0), Ud=ev(Uz,z=d),

Id=ev (Iz,z=d)], Tprim=Tau/d;

A2-Al Tau s —-Tau s
[UO=A2+A1,IO=———zr——,Ud=A2%e +Al %e
C
-Tau s 2 Tau s
%e (A2 %e —-Al)
=- ]

zZc

assume (Zc>0) ;
[Zc>0]

Alzamenal: solve(jednacinel[2], Al);

[A1=T0 Zc+AZ2]

A2zamenal: solve([jednacine[3], jednacine[4]],

Tau s —Tau s
(Id Zc+Ud) %e (Ud—-Id Zc) %e
[[Al= 2 , A2 = P 11]

, Id

(AL,

UOjednacina: ev(jednacine[l],Alzamenal), A2zamenal;

—Tau s
UO= (Ud—-Id Zc) %e +I0 Zc

UOzamena: solve (UOjednacina, UO0) ;

—Tau s Tau s
[UO=%e (I0 Zc %e —Id Zc+Ud) ]

A2zamena2: solve(jednacinel[4], A2);

-2 Tau s Tau s
[A2=—-%e (Id Zc %e -Al)]
Alzamena2: solve([Jjednacine[l], jednacine[2]],
I0 Zc+UO U0-1I0 Zc
[[Al=————— A2=———] ]

2 2

[AL,

A21);

AZ2]);
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Udjednacina: ev(jednacine[3],A2zamena2?), Alzamenal;

—Tau s

(I0 Zc+U0) %e —-Tau s
ud= -3%e
2
Tau s I0 Zc+UO0
Id Zc %e —f

Udzamena: zamena: solve (Udjednacina, Ud);

—Tau s Tau s
[Ud=-%e (Id Zc %e -I0Zc-U0) 1]

zamenalndeksa: [U0O=Ul, I0=I1, Ud=U2, Id=-1I2];
[U0=Ul,I0=I1,Ud=U02,Id=-1I2]

Ul jednacina: [Ul=ev(ev (U0, UOzamena), zamenalndeksa)]l;

—Tau s Tau s

[Ul=3%e (I1 Zc %e +I2 Zc+U2)]

U2jednacina: [U2=ev (ev(Ud, Udzamena), zamenalndeksa)]l;
—Tau s Tau s

[U2=-%e (-I2 Zc %e -I11Z2c-U1)]

idealanVodLT: [Uljednacinal[l], U2jednacinal[l]], expand;

—Tau s —Tau s —Tau s
[Ul=I2Zc %e +U2 %e +I1Zc,U2=1I1Zc %e
—Tau s
+Ul %e +I2 Zc]

idealanVodLT_Yc: idealanVodLT, Zc=1/Yc, expand $;

vreneskiDomen: [Il-%e”(-s-Tau)=il (t-Tau), I2-%e”(-s-Tau)=i2 (t-Tau),
Ul-%e” (-s-Tau)=ul (t-Tau), U2-%e”(-s-Tau)=u2(t-Tau),
Ul=ul(t), I2=1i2(t),Il=il(t),U2=u2(t)];

—Tau s —Tau s

[I1 %e =il (t—-Tau), I2 %e =i2 (t-Tau), Ul
—Tau s —Tau s
%e =ul (t-Tau), U2 %e =u2 (t-Tau), Ul=ul (t), I2=

iz(t),I1=1i1(t),U2=u2 (t)]

idelnivVodvD: idealanVodLT_Yc, vreneskiDomen, Yc=1l/Zc;
[ul (t)=u2(t-Tau)+Zc i2 (t-Tau)+Zc il (t),u2 (t)=
ul (t-Tau) +Zc il (t—-Tau) +Zc 12 (t)]
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print ("Braninove jednacine:")S;

print (idelnivodVDI[11]) $;

print (idelnivodVD[2]) $;

Braninove jednacine:

ul (t)=u2 (t-Tau)+Zc i2 (t—-Tau)+Zc i1 (t)
u2 (t)=ul (t-Tau)+Zc il (t—-Tau)+Zc i2 (t)
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